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Section A Questions and answers in English

Social networking

A Bengali magazine has published the results of an online survey about the use of social
networks. Read the summary of the results.
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What percentage of people use social networking for the following reasons?

Complete the boxes.

: To socialise with friends %

[1 mark]
: To play games %

[1 mark]
. For their studies %

[1 mark]
: What is the least popular reason? Answer in English.

[1 mark]
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Winter jobs

You are interested in how young Bangladeshi people spend their winter holidays and
come across this article online.
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. One third of 17-20 year olds ...

A | are looking for a winter job.

B | have already found a winter job.

C | can’t decide whether to look for a job.

Write the correct letter in the box.

[1 mark]
: A winter job opportunity, particularly outside Dhaka, ...
A | depends on a good salary.
B | depends on the tourist guides.
C | depends on the number of tourists.
Write the correct letter in the box.
[1 mark]

. Apart from earning money, why do the majority of young people want to work?
Answer in English.

[1 mark]
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0] 3] Holiday experience

You read this blog online about a disastrous holiday to Agra.
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Complete the grids below in English to indicate what the problems were and why.

Problem Reason
Example Flight departure delayed weather hazard
CER On the plane [2 marks]
0[] On the Road [2 marks]
GIER Accommodation [2 marks]




The environment

Two young people have posted their views on the environment on a Bengali blog.

Samina:
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Answer the questions in English.

. How does Samina express her opinion about environmental issues?

[1 mark]
. How does Mamun react to Samina’s comments?

[1 mark]
. What should the most important initiative be, according to Mamun?

[1 mark]
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0|5 Futureplans

Read these posts by two students from a partner school in Bangladesh.
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: Which two statements are true? Write the letters in the boxes.

A | Lubna thinks studying medicine would take less time.

B | Lubna wants to have a job where she can help poor people

C | Lubna will probably go to a university far away from home.

D | Lubna thinks there will be less financial burden on her parents.

E | Lubna thinks she will have to stay in the university accommodation.

[2 marks]
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Arman

: Which two statements are true? Write the letters in the boxes.

A | Arman did not like his school.

B | Arman believes that a degree will not guarantee a good job.

C | Arman would look for any type of job.

D | Arman’s results are not very good.

E | Arman thinks it would be difficult to get a place in higher education.

[2 marks]
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Family relationships

You read Jolly's letter to the problem page in a Bengali magazine.
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. What happened to Jolly’s mum recently?

A | She lost her job.

B | The manager wrongly accused her.

C | The manager had an argument with her.

Write the correct letter in the box. [1 mark]
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. How does her mum feel at the moment?

A | Guilty
B | Worried
C | Angry
Write the correct letter in the box. [1 mark]

. How does Jolly think they ought to get money if they need it?

A | They could sell their property

B | Her mum could apply for a bank loan.

C | Jolly could find a job

Write the correct letter in the box. [1 mark]

. How did Jolly react to her mum’s pregnancy?

A | Happy

B | Angry

C | Disappointed

Write the correct letter in the box. [1 mark]

. What change has impacted on Jolly's life recently?

A | Her relationship with her dad.

B | Her relationship with her friends

C | Her relationship with her teachers.

Write the correct letter in the box. [1 mark]
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Music

Read what these two people say in a chat room about music. Identify the people.

Write A for Aleya
B for Bashir
A+B for Aleya + Bashir
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: Who completes coursework whilst listening to music? [1 mark]

NV ST ST FHF COINIT FI Ty 72

TN SEPITHAT TR
2T T B | (I
fafe @2, fva &3 |
F AT G2 g
9 AT N I,
O (T A ¥
3R IR A1 | Y WA
I (I ETFS A=A
ST Y ?

Trefere ¢ wfoge T
A% |

: Who thinks that watching live concerts are exciting?

[1 mark]
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: Who thinks that parents should support children in [1 mark]

playing instruments ?
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Marriage/partnerships

You read this article in a Bengali magazine about a forthcoming marriage.
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. How did Sabbir feel about Lucy when they first met?

[1 mark]

. How did Lucy initially feel about Sabbir?

[1 mark]

: Why did Lucy have to return to Devon?
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[1 mark]
. What type of wedding does Sabbir want?

[1 mark]
. What made Lucy upset after the wedding had been arranged?

[1 mark]
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Section B Questions and answers in Bengali
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[1 mark]
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2
[2 marks]
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[1 mark]
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1
2
[2 marks]
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[1 mark]
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[1 mark]
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[3 marks]
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Section C Translation into English

Your friend has seen this tweet on Twitter and asks you to translate it for him into
English.

AT IHH AL A QT2 AT AR GF5T 08T TS AR F- GIRITT AN (SIS
M | TS WA QTR g =T @11 (@ RS 0= | SR SRS AT

I & T T 13 | S0 @3 YZ0S S RICS AN (73 T Wiy =7 ffdz |

[9 marks]
END OF QUESTIONS
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